AERK S THAE (34 1-15) CEA R

XIBHL CODRG S (AR ITER LFICBW TR ESFMIC THEEEOH L L OEMTTNICAEOH 50T, (AL b - A& A - THBAENE)
R6 R5 R4 i
i N i i \ | \
ISP %5 B R A% 3 i %% R R

A |KFE () 879 7 82.1 3 80.3 3 79.3 13 81.1
A | (BR) B 898 7 80.6 7 80.6 4 81.3 18 80.7
A |CR) IE&EH: 839 2 80.0 2 81.0 4 80.5
A | AR T 2 () 916 2 81.5 1 78.0 2 80.0 5 80.2
A | (BR) A —F7 A 1175 8 80.3 5 79.4 1 81.0 14 80.0
A | () B 807 1 80.0 1 80.0
A | KIFEZE () 1136 6 79.8 7 80.0 2 78.0 15 79.7
A | () & TR 1078 6 80.3 9 78.6 7 80.4 22 79.6
A |(BR) WA Bk T3 915 1 81.0 2 78.5 1 79.0 4 79.3
A | =kELE 959 7 79.9 4 78.5 2 79.0 13 79.3
A | KB 967 2 78.5 1 79.0 1 80.0 4 79.0
A |7 7hE(E BR) 756 1 79.0 1 79.0
A | (BR) i H BB 992 1 79.0 1 79.0
A |(BR) D 818 1 79.0 1 79.0
A | FIGRE SRR () 1051 4 80.3 4 78.5 4 78.0 12 78.9
A |koEw (8R) 872 4 78.8 4 78.8
A | AR R L () 1001 4 78.8 1 79.0 1 78.0 6 78.7
A | R)IEZ (%) 870 4 78.5 3 77.3 1 82.0 8 78.5
A | (BR) B 1090 6 78.3 4 79.0 3 76.3 13 78.1
A |(BR) 7vZWEST 837 1 78.0 1 78.0 2 78.0
A [FnBLERE (FR) 814 1 78.0 1 78.0
A |71 B R 936 5 77.4 2 79.0 2 78.0 9 77.9
A Rk T2 (B 859 1 76.0 1 76.0
A KB (%) 852 2 77.0 1 74.0 3 76.0
A |FENEZR B 919 1 76.0 1 76.0
A | () lEEEMES 880 5 74.0 2 75.5 2 77.5 9 75.1
A |EEEEH () 932 1 75.0 1 75.0
A |(BRNNCT =T 893

A |(A)ARZETL 815
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AERK S THAE (34 1-15) CEA R

XIBHL CODRG S (AR ITER LFICBW TR ESFMIC THEEEOH L L OEMTTNICAEOH 50T, (AL b - A& A - THBAENE)
AN
ﬁ AU BRI 1;;%% ‘ R6 | R5 ‘ R4 | &t
i A ISP %5 B R A% 3 i %% R R
A |(BR) EEL 799
A | R T (BR) 776
A | (BR) b T3 768
A | (BR) F o 765
A oo ol ___
B |/ L k) 708 1 80.0 8ol 2 790
B | (BR) E T 712 2 77.0 4 74.5 6 75.3
B | A=— (#F) 577 1 75.0 1 75.0
B [(&) KBRS 500 3 75.3 1 72.0 4 74.5
B | R#EER (5R) 716 2 74.0 2 73.5 4 73.8
B |(CH) g 745
B /N (BR) 745
B |[>> b () 715
B [AEEZH) 701
B [(BR) Hr=z— 700
B | (#) i aErk 693
B |(F) =#HEX 683
B | H AR AT B AYEIRIE (FR) 668
B |(#k) =L 7 F I 667
B |F—Zrx =T U 7R E () 663
B |(B)av s 631
B [(B) iz sEmkra s 628
B [(B) A4 HD 541
B | (k) #rotvh 526
B | (Bk) A A\ 488
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AERK S THAE (34 1-15) BEXLE

MIBHEHL VOB (L) ITER LHEICBWTREMEMICTERBEOHLE L OEMTTNICALE0H LD T, (R - A& AT - TH A E)
% ﬁﬁ jm (Zl ﬁ) R7£|5E;<: R6 R5 R4 /E'\%I‘
=1 N =
f EE | e T8 % ST e S8 % TS
INNGEE A A 1191 1 79.0 1 80.0 2 79.5
A | (BR) ZEEARE ML 1031 1 78.0 1 78.0
A | (BR) BEE TR M 3E 953 1 78.0 1 78.0
A |GF) P2 K X5 1305 1 75.0 1 75.0
KAEEAF 85 79.2 72 78.5 51 78.4 208 78.8
SF4-5-6FF 78 8
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